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QUESTION 1

Click the Exhibit button.

[edit security zones security-zone trust]
user@host# show

host-inbound-traffic {

system-services {

all;

}} interfaces { ge-0/0/0.0; }

Referring to the exhibit, which two traffic types are permitted when the destination is the ge- 0/0/0.0 IP address?

(Choose two.)
A. Telnet

B. OSPF

C. ICMP

D. RIP

Correct Answer: AC

QUESTION 2

Click the Exhibit button.
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userfhost> show log kmd | match "initistor|responder"”

[Tan 13 01:20:30)ike_init isakmp se: Start, remote = 172.31.29.100:500,
initiator = 1

[Tan 13 01:20:30]ike_calec mac: Start, initiator = true, local = false

[Tan 13 01:20:30)5.5.5.2:500 (Initiator) <-> 172.31.29%9.100:500 { 1b283440
09634407 - B4440960 8344096d [-1] / O0x00000000 } Aggr; Hash wvalue mismatch
[Tan 13 01:20:30]5.5.5.2:500 (Initiator) <-> 172.31.29%.100:500 { 1b283440
09634407 - B4440960 83440%6d [-1] / 0x00000000 } Aggr; Brror = Authentication
failed (24)

[FJan 13 01:20:35)ike _init isakmp sa: Start, remote = 172.31.2%.100:500,
initiator = 1

[Tan 13 01:20:35]ike_calc mac: Start, initiator = true, local = false

[Tan 13 01:20:35)5.5.5.2:500 (Initiator) <-> 172.31.29.100:500 { bbdeécd5
074bcS2Zb - eaéZb3bl e0504c%f [-1] / O0x00000000 } Aggr; Hash value mismatch
[Tan 13 01:20:35)5.5.5.2:500 (Initiator) <-> 172.31.2%.100:500 { bbdeécdS
074bc92bh - eaéZb3ibl e0504<9%f [-1] / 0x00000000 } Aggr; Error = Authentication
failed (24)

[FJan 13 01:21:30)ike_init isakmp sa: Start, remote = 172.31.2%.100:500,
initiator = 1

[Tan 13 01:21:30)ike_calec mac: Start, initiator = true, local = false

[Tan 13 01:21:30]5.5.5.2:500 (Initistor) <-> 172.31.29.100:500 { fe785ff2
deééladd - 5be59188 1ed29d470 [-1] / O0x00000000 } Aggr; Hash value mismatch
[Tan 13 01:21:30]5.5.5.2:500 (Initiator) <-> 172.31.29.100:500 { fe785ff2
deéé3add - She59188 1ed29470 [-1] / Ox00000000 } Aggr; EBrror = Authentication
failed (24)

The phase 1 tunnel of a site-to-site VPN is not establishing as shown in the exhibit. What would you do to resolve the
problem on your SRX Series device?

A. Change the remote side of the VPN to use the correct peering address
B. Change the phase 1 mode from aggressive mode to main mode.

C. Change the preshared key on both sides to matching values

D. Change the phase 1 proposals to match on both sides of the IPsec VPN

Correct Answer: C

QUESTION 3

Which two statements describe the purpose of a security policy? (Choose two.)
A. It enables traffic counting and logging.

B. It enforces a set of rules for transit traffic.

C. It controls host inbound services on a zone.
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D. It controls administrator rights to access the device.

Correct Answer: AB

QUESTION 4

Which two statements are true about overflow pools? (Choose two.)

A. Overflow pools do not support PAT.

B. Overflow pools can not use the egress interface IP address for NAT.

C. Overflow pools must use PAT.

D. Overflow pools can contain the egress interface IP address or separate IP addresses.

Correct Answer: CD

QUESTION 5

Which security or functional zone name has special significance to the Junos OS?
A. self

B. trust

C. untrust

D. junos-global

Correct Answer: D
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